; Word problems based on subtraction up to 2-digits ;

1. John |sa total of 17 frogs on a log of wood. Then after some few minutes, 9 jumped
into a near by pond. How many frogs were left on the log of wood?

s dad went to the beach. Parker wanted to build 71 sandcastles
before leaving the beach. His father said he is going to help him. By the time they
were leaving, Parker had built 29 sandcastles and his dad had built 35 sandcastles.
Did parker reach his target?

2. Yesterday, Parker and h

3. Thereare 19 kids playing at the play ground. 12 kids

(V-

oined them. After some few hours,

7 kids went home. How 'many kids are still playing at the play ground. = |

4, There are 92 peoples at the National Museum. if 49 of them are adults,

how many kids are there?
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Word problems based on subtraction up to 2-digits ]

John |sa total of 17 frogs on a log of wood. Then after some few minutes, 9 jumped

bz D

into a near by pond. How many frogs were left on the log of wood?

Total number of frogs on the log of wood =17 ‘

Number of frogs that jumped into the pond =/9

Therefore, number of frogs left

Total number of frogs on the log of wood - nimber of frogs that jumped into the pond

0] So, 8 frogs were left on the log of woo

Yesterday, Parker and his dad went to the beach. Parker wanted to build 71 sandcastles

before leaving the beach. His father said he is going to help hi the time they

<

were leaving, Parker had built 29 sandcastles and his dad had built 35 sandcastles

Did parker reach his target?

a P
Total number of sandcastles Parker wanted to build = 71 \ | Jqi | BEE
Number of sandcastles Parker built = 29 ‘ Ve L
Number of sand castles his father built = 35 ~

Total number of sandcastles they built/ =

number of sandcastles Parker built plus number of sandcastles his father buil

24

6 4 sandcastles

Therefore, to find if Parker reached his target of 71 castles, we need to subtract the total number of

sandcastles they built from the total number of sandcastles Parker wanted to build

So, lparker did not reach his target since the differnce is 7 and not zero
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